D-3047

B. Com. (Part I11) EXAMINATION, 2020
(Optional Group A—Finance Area)
Paper First
FINANCIAL MANAGEMENT

Time : Three Hours ] [ Maximum Marks : 75
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Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.
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What is financial function ? Explain the traditional and
modern approach of finance function.
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“Financial Planning is the key to successful business
operations.” Explain.

(A-45) P.T. O.

[2] D-3047
$HE—2
(UNIT—2)
T gored @ gRaIRiT HIfVg | 596 3e9d U4 Wed &l qui
DI |

Define Capital Budgeting. Discuss its objectives and

importance.
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1 50,000 30,000

2 40,000 30,000

3 30,000 50,000

4 20,000 40,000

5 20,000 40,000
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Vijay Ltd. is consider in to purchase a machine. Two
machines A and B are available at the cost of ¥ 1,20,000
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each. Earning after tax before depreciation are likely to be
ahead :

Machine A Machine B
Year
® (9]
1 50,000 30,000
2 40,000 30,000
3 30,000 50,000
4 20,000 40,000
5 20,000 40,000

Evaluate the two alternatives by using :
(a) Pay-back period method
(b) Post pay-back profitability method
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Define Cost of Capital. State how would you determine the
weighted average cost of capital of a company ?
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A company produces and sales 50000 units at a price of ¥ 10

per unit. Variable cost of production is ¥ 4 per unit and
fixed costs are ¥ 2,50,000. Interest charged on debt capital is
T 30,000 per annum. Find the combined leverage for the
company.
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Define capital structure. Mention the factors affecting capital
structure.
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What is Dividend Policy ? Explain the various factors
determining the dividend policy of a company.
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Explain the operating cycle concept of working capital. Give
suitable examples.
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What do you mean by receivables management ? What is the

importance of average receivable period in terms of
management of receiving ?
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